
 

 

  

https://testzone.smartkeeda.com/Test/Pricing


 

 

Coding Decoding for IBPS Clerk Mains, SBI Clerk Mains, IBPS PO 

Pre and SBI PO Pre Exams. 
Coding Decoding Quiz 60 
 

Directions: Read the following information carefully and answer the questions given beside. 
  

In a code language, 
  
start walk stop diet is coded as 8%  #21  3$7  *6 
  
walk rest start bite is coded as #9  *6  2@9   #21 
  
stop work diet rest is coded as ^78   8%  3$7  #9 
  
bite rest start diet is coded as 2@9   #9   *6   3$7 

 
 

Questions : 
 

1. Find the code for 'work diet'? 

A. 3$7 #9  B. ^78 3$7  C. ^78 #9  D. 3$7 *6           E. Can't be determined 
  

2. How 'smart work' can be coded? 

A. #21 *4  B. ^78 #21  C. #9 &6  D. $3 ^78   E. 8% 7^ 
 

3. What is the code for 'bite'? 

A. #21   B. #9   C. 2@9   D. 3$7             E. Can't be determined 
 

4. Code 8% stands for which of the following?   

A. stop   B. diet   C. start   D. Either stop or start      E. None of these 
 

5.  What is the code for 'rest bite'? 

A. #9 2@9  B. *6 2@9  C. #9 8%  D. Can't be determined        E. None of these 
 

Correct Answers: 

1 2 3 4 5 

B D C A A 

 



 

 

Common explanations : 
 
 
start walk stop diet is coded as 8% #21 3$7 *6 ----- (1) 
 
walk rest start bite is coded as #9 *6 2@9 #21 ------ (2) 
 
stop work diet rest is coded as ^78 8% 3$7 #9 -------- (3) 
 
bite rest start diet is coded as 2@9 #9 *6 3$7 ------- (4) 
  
From (1), (3) and (4), we get: 
diet – 3$7 -------- (5) 
  
From (1), (2) and (4), we get: 
start - *6 ------ (6) 
  
From (1), (3) and (5), we get: 
stop – 8% ------- (7) 
  
From (1), (5), (6) and (7), we get: 
walk - #21 ------- (8) 
From (2), (3) and (4), we get: 
rest - #9 -------- (9) 
  
From (2), (4) and (9), we get: 
bite – 2@9 -------- (10) 
  
From (3), (5), (7) and (9), we get: 
work - ^78 ------ (11) 
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Answers :  

1.   From the common explanation, we have  
 
The code for work diet is ^78 3$7. 

 
Hence option B is correct. 

 
 

2. From the common explanation, we have 
  

The code for smart work would be $3 ^78. 
 
Hence option D is correct. 

 
 

3. From the common explanation, we have 
 

The code for bite is 2@9. 
 

Hence option C is correct. 
 
 

4.   From the common explanation, we have 

 
Code 8% stands for 'stop'. 
 
Hence option A is correct. 
 

 

5. From the common explanation, we have 
 
rest bite is coded as #9 2@9. 

 
Hence option A is correct. 
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